- AnSweers

Solve each system of equations below using
multiplication with the addition method. Find the
solution in the answer column and notice the word

next to it. Write this word in the box containing the TWEET (1, 2)
letter of that exercise. Keep working and you will
hear about some “udder” nonsense. HIS (2, 1)
@ SX — 2y =} - @ 3x — 5y =7 SELL'NG (—5, O)
(2,3) (=l;~2 ) UDDER (2, 0)
3x — 5y =13 (H) 4x+3y=9 THE 3.8
x—2y=5 3x+dy =12 SINGING (-5, 4)
{ly=2) (0. 2 STARTED (2, —2)
L0, 2
©) 7x+2y=—1 (1) sx—3y=16 FED (-2, 4)
3x — 4y = 19 4x + 5y = -2 BUTTER (-1, 3)
=} (2,-2) CoWs (1, 4)
(D) x+2y=6 Q) 4x-3y=-20 LK. =1,
(-2, 4) (i ) AND (0, 3)
(E) x+3y=7 (K) —8x+7y=—1 WINGS (2, —4)
8x+4y=10 —2x+5y=0 WHO (1, —4)
(> 1) s 2l MOO (1, 3)
(F) 7x-3y=-5 (L) sx+6y=—11 CHEEP (5,8
3x+2y =11 3x+y=—4 BEEF (3, -2)

(1,4) (-1,-1)

OBJECTIVE 6-f: To solve systems of equations using multiplication ALGERRA WITH PIZZAZZ!
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13) 16x—-10y=10
—Ex-— 6y= 6

(0,~1)

13) —4x—-15y=-17
—x+5y=-13

(&,-1)

(1,-2)

19) —4x—2y=14
—10x + Ty= -25

(#],25)

21) Sx+4y=-14

(—6,4 )

23) —14=-20y-7x
10y +4=2x

(2, 0)

14) 8x+ 14y=4

16) —x~T7y=14

18) Sx+4y=-30

—6x—Ty=-10

(4,-2)

—4x—-14y=28

(0,-2.)

3x-9y=-18

[, ) ?

20) 3x—2y=2

5x-5y=10

(-2,

22) 2x+8y=6

-5x-20y=-15
Same. i
inhaite nuwmi Yy cfga/afwij

—3-T7y=10x

(-1,1)



13) lox 10y =10 I4+) 8x+14y =4 S) 1%y =13

x-py= o Rx-MGE20  axonyoq
fg%gén' T ¥x="le 30, =35
( . S 2
0, ~ By o Y=
g ) ( qr 2’) { 8[~[%
o) Key ) 23432y =3 10)=ISK-12 =40
‘txt+ley= Sk -2Bx+b3y =-ISY /S?(»%%: 70
P:ﬁiiijiféq Qsjz—mO | y=0
}L}j: ' | ! l\[j ey (’b/o)
j=7= (1,-2)
(0 -2)
M) 20%+[0y= =30 ‘710> -ISx+[0y = —{8 21 ) ISxH Y= t,éi,
-20x +{%4="30 [SX ~ISYy ai - S0y ="
D)_ijj:—/),o “Tﬁ =20 "lﬁy =72
y=- y=-71 y=f
), =% (2,-4) K=-2 (~6,4 )
(0

23) IOXM%SSD 025) —77x-;zoy:-14 CQLF) Qx_(j:—j

_ iox-¥By=-3n  Ax Oy ="Y 0+ Iy="3
~Yyi20y="-8 f .

5 Y JF/@XH}(,/Y

=il % ==2L
* = 2.

(2,0) (//]g |

{;tj':fz



